P-1 (1+1+1) G /20 (N)
2020
PHYSICAL EDUCATION (General)
Paper Code : II - A & B
[New Syllabus]

Important Instructions
for Multiple Choice Question (MCQ)

® Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).
Subject Code : |IIl|A |& |B

Subject Name :

¢ Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is “CORRECT” answer. The candidate has to write
the Correct Alternative [ie. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.

Example — If alternative A of 1 is correct, then write :
1. — A

® There is no negative marking for wrong answer.
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Paper Code : II - A
Full Marks : 15 Time : Thirty Minutes
Choose the correct answer.

Each question carries 1 mark.

1. In the trained athlete, the minute volume of the heart —
(A) Decreases
(B) Remains some
(C) Increases
(D) None of the above

e o~

S| @Fe df¥ifFFe Freifima mefrres e sy —
(A) gFT I
(B) frg WECAR AT
(C) 3@ =i
(D) Tt (AT =

2. How much oxygen is there in the human body?
(A) 65%
B) 50%
(C) 67%
D) 70%

Q| NRWR F© AR SRIe 0, AMF?
(A) Y& *TORH
(B) o *IorR+
(C) va ==
(D) 0 XS
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3. Which of the following is an example of connective tissue?
(A) Bone
(B) Cartilage
(C) Blood
(D) All of the above

o | A @0 @R G Sriee ?
(A) =ifZ
(B) w=FIg
C) T&
(D) TR A0

4. How much is the average pH value of blood?
(A) 6.5
B) 7.4
(C) 85
D) 9.0

8| IC&9 Mo pH &9 AJ F9?
(A) ©.¢
(B) 4.8
(C) v.¢
(D) ».0
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5. What is known as heart pacemaker?
(A) Skull
(B) A.V. Node
(C) S.A. Node
(D) Both A.V. Node and S.A. Node

¢ | TS (IR 2N & <Aoo 2
(A) e et
(B) «u@.fe. e
(C) 9.9, @IS
(D) TeF «fe. (A% ¢ @14, (T

6. The amount of blood flowing from the heart over a given period of time is
known as —

(A) Stroke volume
(B) Cardiac output
(C) Heart rate
(D) Blood Pressure
v @3 Wive e 4 adie (AT Nifee qres S e HAfbe =
a3 —
(A) (B Sferos/are wfasel
(B) Ze-BeoW
(C) 2™ WCag 2
(D) &bt
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7. What happens to the person who is forced to leave immediately after breathing
deeply?

(A) Respiration
(B) Expiration
(C) Inspiration
(D) Vital Capacity

q | TORSII W A2CR A (@ AR IS A5EF o719l T & OIS [ e 2
(A) =1
(B) Tz
(C) =Pezd
(D) <Y A5ee
8. Explain of Synovial joint is —
(A) Suture
(B) Knee Joint
(C) Inter vertebral disc
(D) Shoulder joint

b | AN Al Swgel 2o —
(A) ¢@E A T 7
(B) 27
(C) Toreilat %

(D) T Al
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9. In the case of volleyball underarm pass, the following in which muscles is used?
(A) Biceps, Radialis, Ulnaris
(B) Biceps, Radialis, Masetor
(C) Biceps, Ulnaris, Masetor
(D) Radialis, Ulmaris, Masetor

> | SeTce SR S -9 CFg Ad (P (I Iz 232
(A) I, @EfEifem, siefas
(B) BRI, @GR, ICAGA
(C) QRCA#, S, G
(D) AR, S, SHEv

10. Pulmonary vein drains blood into —
(A) Right Atrium
(B) Left Atrium
(C) Right Ventricle
(D) Left Ventricle

So | ARINIE M=l 718 G & ol T ©f 2e1 —
(A) I e
(B) A fera
(C) O e
(D) IS wifew
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11. The movement of balls and sockets is done?
(A) Pronation
(B) Eversion
(C) Rotation and Circumduction
(D) Plantar Flexon

55 | TeT € ACHG Al AT Zo1 —
(A) ==
(B) Tl
(C) GRITHH & AP
(D) AR P
12. What does the side bark of the thoracic and lumbar region of the spine say?
(A) Scoliosis
(B) Lordosis
(C) Kyphosis
(D) All of the above

53| GRS (IR € TR AR A I@els F A6 2
(A) ciferefm
(B) =RCSIFR
(C) PIRCI
(D) #<o3
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13. What is the main source of energy production under the following?
(A) ATP
(B) ADP
(C) Protein
(D) Phospho Creatine

9| ST (@0 *NEF Y7 *feE Soimie 2
(A) ATP
(B) ADP
(C) ¢
(D) TACHIERT

14. In 100 ml blood of male and female how much amount of Hemoglobin is —
(A) 14 gm.
(B) 14.5 gm.
(C) 16 gm.
(D) 20 gm.
v8 | I ¢ 7FE @fs soo FfRER T0E Fo RrNaRE A2
(A) S8 &I
(B) v8.¢ &N
(C) >v &N
(D) o &N
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15. Which muscle is an important part for long jump?
(A) Trapizium
(B) Laticimus Dorsi
(C) Deltoid
(D) Quardraceps
S| AT STHRCE G (I oI Y wpgeief?
(A) Trifsiferms
(B) =Wt T
(C) (T=oEe
(D) CPRIGETA
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P-1 (1+1+1) G /20 (N)
2020
PHYSICAL EDUCATION (General)
Paper Code : II - B
[New Syllabus]

Full Marks : 35 Time : One Hour Thirty Minutes

The figures in the margin indicate full marks.

Group - A
Answer any fwo questions.

1. What is Nervous System? Discuss the function of Nervous System. Write the
function of Ceribrum with diagram. 2+3+5=10

2. What is Nucleus? Describe the structure of a Nucleus of Eukaryotic cell with
diagram. Discuss the cause and correction of Kyphosis. 2+4+4=10

3. What is Muscular System? What are the different types of Muscle. Discuss
the different types of Muscular contraction. 2+2+6=10
Group - B

Answer any three questions.

4. Write the effect of exercise on Respiratory system. 5
5. State the main function of each kind of tissue. 5
6. Discuss the Bio-chemical changes in Muscle. 5
7. Blood circulatory system and its function. 5
8. Isometric and isotonic contraction. 5
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